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(a) WAN (b) LAN
(a) Red hat linux
(€) MMS (d) EBB
MS Offi
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Which of the following are the two main
components of the CPU ?

(@) Control unit and registers
(b) Registers and main memory
() Control unit and ALU

(d) ALU and bus
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How many ‘function keys' are typically
present on a standard computer
keyboard ?

(a) 10 (b) 11

(c) 12 (d 13
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A hard disk is divided into tracks

which are further sub-divided into -
0} Clusters ) Sectors
€] Vectors ) Heads
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() Aaed (d) Bxw
IS a temporary holding space in

compuler's memory for data that Is
copied or moved.

(a) ROM b RAM

(c) EEPROM (d) Clipboard
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(a) ROM (b) RAM
{ﬂiiwfﬂ (d) Clipboard
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{a) PPM (Page Per Minute)

(b) CPS (Character Per Second)
(c) DPL (Dots Per Line)

(d) DPI (Dots Per Inch)
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The nm:sm“m number of Columns in a
Worksheey In MS.Excel are -
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Which shorteny Key is ysed to add a
new slide in Presentation

Cae M) ctrl+c

() Ctrl+ M [d) Ctri+ D

() Ctrl+ M (d) <Ctrl + D

Ellipse motion is a predefined

scheme in PowerPoint.

(c) Colour (d) Bullet

ureege ¥ e A v o feife L
WE 8

(a) fsongs

(¢) TR

(b) T
(d) o2

Themes in PowerPoint can be found
under which tab ?

(a) Animation Tab (b) Transition Tab

(c) DesignTab  (d) Insert Tab
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when the computer Is activated, Basic
Input Output System activates a series

of hardware checks called

(c) NTLDR (d) UEFI
4 peagey Shed fa i & @ AR 3

gigege fowed e ol @ 1@ e
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(a) POST (b) GNU

() NTLDR (d) UEFI

Which of the following is not a type of
MS-Access database object ?

(a) Macros (b) Tables

(¢} Worksheet ——(d) Modules

= 1 @ - MS-Access Sciad
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(@) P (b) e
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A small text file which contains the
name of the website that it has come
from and a unique 1D tag is called




Adda

247

18

19,

19.

o o R O |
wrend &1 |

W g v ™ g1, Factors of @

© W @ o will be

ype of viruses infect and
replicate when it gets attached to M5 M) (a-b+
DOS progem with EXE or COM
extensions.

Macro virus -
(a) (oae

(b) Boot sector virus
{c) File Infector virus
(d) None of these
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fatlo of students of three schools
ABandCiss5;4. 5 respectively. 1T
the number of students in these
schools is increased by 2096, 250 and
20% respectively, thig ratio will be

(a) 5:5:7

() M

The

(b) 30:25: 492
[c) 30:20:49

(d) None of these
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(b) 30:25:42
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A and B together take 6 days to
complete a piece of work. If it is given
that A alone takes 9 days less than B
to complete the work, then in how

many days will B alone complete the
work ?

(@) 21

() 12

(b) 15
(d) 18
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(a) 21 (b) 15
(©) 12 (d) 18
A and B can do @ piece of work in 6
days. A working alone can complete the
same work in 9 days. In how many
3

days can B alone complete 3 of the
work ?
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5 minutes. What is his
km/h ?

(a) 3.6 b) 7.2
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A man travelled 80 km in 7 hours.
some of which he travelled on foot at

the rate of 8 km/hr and some of the

journey by bicycle at the rate of 16

km/hr. How much distance did he

travel on foot ?

(a) 32km (b) 48 km

(c) 36 km (d) 44 km
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(a) 32 faio
(c) 36 fele

A jeep is following a car which is 5 km
ahead of the jeep. Their speed is 90
km/h and 75 km/h respectively. After
how much time will the jeep catch the

car ?

(b) 48 fFHle

(d) 44 fafo
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Section - B (ENGLISH)

(Descriptive)

1. Co
Trect the following sentences without changing their meaning. Do not
make unn

changes in the original sentence. I1x7=7
(@)

De
SPlte of Tepeated reminders, the company has not responded.
(b)

All {he
Sludeng Will attend the function, wouldn't they ?
} tcl This is one of

the best books that has been recently purchased for the

library,

([d)  Flying o
g on the Northery, Part of India, we could see the peak of Everest,

) Your friend 15 Walting for yoy since morning
D Thec

& ollege is holding Special lectures for their students and teachers so that

€y may get enlightened ahou( the economic problems

(g

(@) Tobeat sea

(b)  Between Scylla and Charybdis
(c)  Null and Void
(d)  Call a spade a spade
(€}  Few and far between
L LLETIT

(D-9)
ST.M
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.spelt word®
3. Write the correct spelling of following mis-spe Tay ¥
() expantion
M vencher
() suple
()  shudering

(e}  excavasion

pelow when properly sequenced form ,

paragraph by Writing the gop mm“ G
31

4. The sentences given
paragraph. Construct a coherent
below in their most logical order :

that death was the Egyptians o nly p Y o

-

(a) But this does not mean

Even papyri come mainly from pyramid temples,

(b)
(©) Most of our traditional sources of information about the Old Kingdom are
monuments of the rich like pyramids and tombs.
(d) Houses, in which ordinary Egyptians lived have not been preserved, and
when most people died, they were buried in simple graves.
=
(€ We know infinitely more about the wealthy people of Egypt than we do about
the ordinary people as most monuments were for the rich. \ 2
¥
5. Change the voice of the following : 1x5=5
(a)  This book has greatly interested me. #
(b)  They chose him their leader.
() Why have you broken the mirror ?
(d) Why do you write a letter ?
() Shut the window.
[

EW. i .‘g; (0-10)
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(General Knowledge & Current Affairs/dr 5 v W Te)
These are very ghort answer type questions of 1 mark each: 1 x10=10
A R Sy

W ¥ o b -ue a@ B 8-

(a) What
IS the minimum age required to be appointed as President of India ?

IR D TR 3 oy 4 Py ) B forg v e g 70 E 7

(b)  Presentl
Y. how many schedules are there in the Constitution of India ?

T 3 A R g e o € 7

(c) Prese
ntly who is the Chief Justice of India ?

T ARG B T ey i € 7

(d)  Who was the founder of Mauryan dynasty ?
e d9 @ GRS B o ?

()  Write the name of the longest mountain range in the world.
fieq &) e @) wa A @ o o |

1] In which country were the Asian Games 2023 organized ?

qﬁmﬁ@ﬁznzaﬁmﬁuﬁmﬂﬁﬂﬁwﬂﬂ?

Indian economy in the world '

(¢) What is the current position of
purchasing powerparity?
¢ e st @1 R B

(h) The bank rate in India is d Jecided by which Institution ?
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who is the custodian of the constitution of India ?

Hﬂaa%aﬁwaﬂaﬂ?ﬁﬂ?(aﬂﬁl%ﬁ)ﬁ%?

the rover of chandrayan- 3

(i)

()  Write the name of
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